1. Two classes, 1st and 2nd hours, are trying to raise some money for charity.
After one day 1st hour has $5.30 and 2nd hour has $3.65. First hour averages
$0.40 a day after the first day and 2nd hour averages $0.55 a day.

Write and solve an equation to find the number of days it will take for the two
classes to end up with the same amount of money.
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Write an equation and solve it in order to find the value of x.
This is an isosceles triangle

sides are also equal:
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because it has two equal sides.
The angles opposite the equal

2. Find the exact solution to this equation:
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Don't use a calculator!

2. Solve for W

2. Solve for x
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